Newton’s Method
f)=x3+x2+x—-1

Start withx0=1

fl(x)=3x2+2x+1

Lo:
Pt: f(1)=2=>(1,2)
Slope: f'(1)=6

y—2=6(x-1)

y=2+46(x—1)

y=fM+f O -1

Intersect x-axis:
Set y=0 and solve for x

0=2+6(—1)

0=fM+fDE-1

6(x—1)=-2 -1 =-f(1)
_ 2 ¢S]
x—1= 6 X—l——m
—1-Z _ L, f@
e RO
2
x=1—€
2
X:§ ng
Let x1 be this new
value 2
X1 == x1:§

Repeat Process

Ll:

Pt: f(2/3) = 11/27 =>
(2/3,11/27)

Slope: f'(2/3) =11/3

Intersect x-axis:
Set y=0 and solve for x

Let x2 be this new
value




Newton’s Method

Repeat Process

Lz:
Pt: (5/9,f(5/9))
Slope: f'(5/9)

Intersect x-axis:
Set y=0 and solve for x

Let x3 be this new
value




